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pH WORKSHEET
1.
Calculate pH and pOH for the following solutions :
 [H+][OH-]=1 x 10-14 ; pH = -log [H+]; pOH = -log [OH-]

a)  [H+] = 1.0 x 10-5 M
b)  [OH-] = 3.0 x 10-8 M



c)  [H+] = 2.5 x 10-2
d)  [OH-] = 7.5 x 10-3 M



e)  [H+] = 1.2 x 10-14 M
f)  [H+] = 6.0 M


3.
Calculate the pH and the pOH of 0.050 M solutions of the following acids : pH + pOH = 14

a)  Perchloric acid, HClO4 


b)  Carbonic acid, H2CO3

BONUS:  if pH = - log[H+], then [H+] = 10pH
2.
Calculate [H+] and [OH-] for the following :


a)  pH = 3.0
b)  pOH = 2.60


c)  pOH = 5.63
d)  pH = 7.51

